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L 657 4+5% 5% 46% isdivisible by 5.  Which one of the following is correct, ?

) 7 {al Decimal expansion of a rational number
15 terminating,
(b) 8 (k) Decimal expangion of 4 rational number
is non-terminating.
e} 11
e}  Decimal expansion of an irrational
d)y 13 number is terminating.

(d} Decimal expansion of an irrational

2 Ifa+ b= 2 then what is the value of number  is  non-terminating  and
a i C non-repeating,

?
a-¢ h-p

8.  If the roots of the equation px® + x + r = 0 are
fa] -1 reciprocal to each other, then which one of the
following is correct 7

by 0

(a) p=2r
gy 1

(b} p=r
L [} Zp=r

d} p=dr

3. Irxny”‘_y:z""‘andz::i:"""wherax:tl.
y# 1, z# 1, then what is the value of abc 7 7. If 65x — 33y = 97 and 33x - 65y = 1, then
what is xy equal to 7

fal =1
fa) 2
by 1
by 3
fey 0
: fey =2
dy 3 ko
o AR e SR R
4. If Zb=a+c and v = xz, then what is e S S n what is
bh—rc -8 . a—-b
X i equal to 7 E.‘Lﬂ Sl
bx
{a} 3
{a) 1
) 2 di @
e} 1 e} 0
d =1 € =1
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517 o 518 L 519 5™ femm Ry R 9 5.
fa) 7
(bl 9
() 11
) 13
M asbaed Mt -2 . £ wmomam
a=¢ b=g¢
%7 6.
(n) =1
b) 0
el 1
(dy 2
TR x=y¥® yut® Rz s ke x|
yel zel 8, @ abe ™ WH FE 7
(a) =1
ihy 1
e} O
dy 3
e Zh=a+c Eﬁ'{.yg=ug,ﬂ}f B
Xt yen b firdy w R 9
ta) 3
hy 2
el 1
dr -1
(A-A)

fraferfiam o & g wét 8 0

(a) TIHG ST o SEWeE 9O O B R

(b HTEE SE 1 ST FET SEEar B
21

() WUIHY TN W ZEHElE WAT OTE BN
i

id) IR w1 EOeE WOR aEEEE
3 srmEd B E

Hie FHEm px3+1+r=D%H§TW-'-'ﬂﬂ%
s §, 7 P 3 2 v w2 2

{al p=2r

(bl p=r
el 2p=r
d} p=dr

a2 ghx — 33y =97 3N 3Fax—e6y =1 B, A
xy Toaed S # 7

() 2

by 3

ey =3

ol -3

af §+§=1 R
Tk = 2 7

{a} 1

b} 2

icy O

dy -1




2_1

8. If =5, then what is the value of
&
a aa_ 1 -
(&} 125
(th} —1256
el 140
dy - 140
1. Tf x+y+z=0, thenwhatis
L —xP & (z +:r.—5'J-a +ti:+:|.r—:|',3l"1 eqiial
to 7
) (x+y+zP
by Six+ ¥y +z)is+x)
(e} 2dxyz
(d) —24xvz
11.  If (x + 8) is & factor of x* + 3x* + 4x + k, then
what is the value of k ¥
{a} 12
(bl 24
{e) 38
(d) 72
12. The smallest integer with 4 digits which is a
parfect sguare ia
ta) 1000
(hy 1024
¢} 10889
(dy  Noneof the above
SPS5-T-XHI

13. Which one of the following is a zero of the

14.

154.

(4-A)

polynomial Sx + 4x® -7 7

{a] D
thy 1
e} 2
dy =1

There are two numbers which are greater
than 21 and their LCM and HCF are 3003 and
21 reapectively. What is the sum of these

numbers ?
fa)l &M
ib) 508
fe) 514
id) 528

If o« and f are the roots of the eguation
ax” + bx + ¢ = 0, then what is the value of the
expression (o + 1) (f+ 1) 7

ca) #+bap
a

w bre-a
i

() a—-h+4re
a

i) a+bh-c




al

= o o
1=Eg'mﬂ31
a a

9, =f2

FIAA TR ?

fa) 125

b =125

(el 140

(dy - 140

10, T2 x+y+z=0 @@

y+a=xP+iz+n=yP+ix+y-ar
fireth = B 7

(a) (x+y+x)?

(b} J{x+yiiy+ziz+x)
(e} 2dxve
dl —24xye

i (x + 3, x3+h2¢4x*kmﬁ'ﬂ“ﬂ1ﬁ_ﬁi+

MEF AR FE 7

11.

(md 12
(hy 24
(e 36

id)y T2

4 | = g98 wE gl A o ge] o ) off @,
frfefga d a s 2

12.
{m] 1040
(hy 1024

ey 1088

() I9dw & & wrd ol

SPS5-T-XHI

(6-

13. FEW 8x' + 4 - 7 % s, Fokelae 4 A
waam #

al ®©
bl 1
) 2
idy -1

tredt @1 wennd # w1 21 @ = # of 3% LoM
" HCF %99 30038 30 218 | 39 wEmad =

14.

APTES R T
{fa} B04
(b} 508
{c) 514

(d) 528

15. TE o 3 p =0 ax® + bx + ¢ = 0 I3 #,

A TS (a+ P+ DI AR TR 7

a+h+e
fal i
b+e—a
b
(b <
(&) ga=-b+e
a
(d) h+b=r
a

A)




16,

17

The remainder when 3x7 « kx* + 5x - 6 is
divided by (x 4+ 1115 = 7. What iz the value of

k?

(a) =14
th) 14
(&) =7
id) 7

If fix) and gix) are polymomials of degree p
and q respectively, then the degree of
{fx) & pixi} (if it is non-zera) is

{al  Greater than minip, q)
(b)  Greater than max(p, q)
(e}  Lessthan or equal to maxip, g}
id) Equal to min{p, g}
. - +
18. What is the value of H - H ?
(a) -2415
(b} 2415
(e 15
{d)y —+/15
18, What is the value of
1 1
LaxP~R 4 gf=8 " 1 x8-b  ai-h =
1
1+ x0—F 4 b0
where x 207
fa) =1
by 0
e} 1
idr 3
SPSS-T-XHI

20.

21.

(6-A)

The sum of a number and its square-is 20,
Then the number is

{a} —Hord

(b} 2or3

(g, =5only

idl Bor-4

If the price of wheat rises by 25%, then by how
much percent must a man reduce his

comsumption in order to keep his budget the
game as before 7

{a) 15%
(b 20
(e) 26%
d) 0%
ﬂl_ﬁ of the studeniz who registered did oot

2 1
appear for the examination, ﬁ of those who

appeared passed. If the number of registered
gtudents is 2000, the number who passed iz

{a) 1920
{b} 1086
te] 1020
(d} 364

What iz the difference between 0-0 and 0-8 7

fm) 0

ihy 0099
e} 01
dy 004




16.

17.

18,

14.
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A Bt s ks -6 ® (x4 L)W WM fEm
FMEA —TIN SN R | kW HW FNE 7

fay —14
iby 14
(e} =T
idi 7

A fix) 37 glx) T Fioft paft o 5 WE 8,
A fix) + gl (97 78 v &) 6 faf 2

1 min{p,q]ﬁm

ib) maxip, qjﬁﬁ

(c) maxip, q) % TE T ZHH FY
(dl  minip, q) % T
e _ i
B-V3 f5+VE pomants
J6+43 JE—43
(al —2.15 22,
(b} 24156
el 15
id) —+16
1 1
b + +
1+:.:h"'+:.:*"‘ 1+xbt=b ye=b
l+x"=C 4 xb~¢
HE k< OR, FTHE FTR 2
1.

tal =1
i 0
icl 1
d}y 2

(7T=A)

Z1.

20, T WEw W IHE T F AEA 208 | 9 7R

HeE #

{a) — &g 4
b} 2 3E=ET3
e} HEA -5
dy 5 3Ear -4

af2 ™ w1 wE (2m) 25% G@gAl B, A1 UE =i
® W Igam § fema im0 =
FTfEn, MR 0 T892 TR A # w4 08 7

(a) 15%
by 20%
(ch 25%
id)

vt T F 13—5 aften ¥ fom awferm ol
11

A Rn g o I oAk

T Bl F FE 2000 , A S AR A=

Tt & e o

fa) 1820
(b} 1056
e} 1020
d) BG4

0-8 3 o0 O T H@W R 2

al 0

thy 00899
el 0]
iy O-00E




24, IFA:B=1:8 B:C=ad:4 C:D=2:3
and D:E=3:4, then what 15 B : E agual to ?
{a} 3+2
(b)) 1:8
el J:8
(dy 4:1

25. A work when done by 10 women ig completed
in 12 davs. The same work can be completed
in & days when done by & men. How manv
days will it take to complete when 6 women
and 3 men are employed to perform the same
Job 7
(a} 12
by 10
(e} B
{dy 5

268. A man undertakes to do & certain work in
150 days. He employs 200 men. He finds that
only a guarter of the work iz done in 50 days.
How many additions]l men should he employ
g0 that the whole work is finished in time ?
fa} 75
iby &5
g} 100
id} 120

27. A train moving with a speed of 60 km per hour
crosses an electric pole in 30 seconds, What is
the length of the train in metres ?
(a) 300
fhy 400
e 500
(di  B00

SPS5-T-XHI

(B-A)

T 120 iz distributed among A, B and C so that
A's share is ¥ 20 more than B's and & 20 loss
than Oz, What iz B share 7

fal T 10
by #15
(e} T 20
(d} T26

In the following table of inverse wvaristion,
what are the values of A/ B and C

respectively 7
¢ |

80 _]'

M 16 — b 2

N -4 A B

fa) 10, =30 -1
(b} 10,=1,30
e} —=30,10,-1

d} -1,-30 10

A person borrowed T 5,000 st 5% rate of
interest per annum and immediately lent it at
55%, After two years he collected the amount
and settled hiz loan. What is the amount
gained by him in this transaction ?

() ¥25
(b} = 50
el T 100
d} T 200




24 T A:B=1:2 B:C=3:4 C:D=2:3|28. AB3RCHT 120 TFa oz 70 £ 6 A

MM D:E=3:4% A B E fFmk s ¢ 7 F 39 BFH WM H T 20 3uF # 3 CF W
a) 3:2 HENFAR | BRI AM R 2
by 1:8 (a) =10
() :
d} 4:1 (b) ¥15
(e} ¥ 20

o5, THFA HI TR 0FEE FA E A aw 1ofm H
A | e W o s e g YT
t % 8 fom & qu & amn @ ) 3 w5 | wE
3 fu o 6 it o @ s s i §, 6|20, SIRA TR i Feerian ol |, A, B i

= #R i fa f el o C & Fordt: W #4187

a} 12

(bl 10 M l 15 — & & i3
A

4 N -4 A B | &0

@ 5 =

ia) 10, -30,-1
26, W SATE AT wE W 150 B A 0 WA W

TweTara oW & | 5% 200 sl Fgw s (b) 10,-—1,30
? 1 78 uw wea oo B 4 oamowd W
Fam THtE @ g @ g # ) 39 feed Wt o)
wiafes sEdt e =nfed, faod fie = g {d) -1,-380,10

w1 5Wg § @eH B W 7

a) 76

(b) 86 30. UH =ufE 4 5 of @ f wm o oW #5000
(e} 100 aum fom aft g A 55m F & 9t 3uN 2
) 120 fom | 2 = W 3E e A wi s s

w4 g9 i | 38 fREA 4 =8 el el
27, 60 km W =e # nfF & wed g ww twnr) haliins ol

w faee @e w30 d9vs § on w0 ot

o i e, e & w2 il
fa) 300 () T 50
{b) 400

A dgs (€} T 100
) -600 () 200

SPSS-T-XHI (9-A)
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Al present the average of the ages of a father
and a zon i8 25 vears, After seven vears the
gon will b 17 years old. What will be the age
of the father after 10 vears 7

fa) 44 vears
(hi 45 vears
(¢} 50 vears
(dy 52 years

If 5 tractors can plough 5 hectares of land in
b days, then what is the number of tractors
required to plough 100 hectares in 50 days 7

(a) 100
b) 20
(e} 10
(d) &

A merchant commences with a certain capital
and gains annually at the rate of 26%, At the
end of 3 vears he haz T 10,000, What iz the
original ammnt that the merchant invested 7

(a) ¥ 6120
(b) ¥5210
e} T 5360
d) ¥ 5500

Which one of the following decimal numbers is
a rational number with denominater 37 7

{a) (-4584584568 . .
b)  0-459459459

(e} O-0458458469
id) 000459458 ., ..

37.

(10-A)

The annual income of a person  decreases by
¥ 064 if the annual rate of interest decreases
from 4% to 3 75%. What is his original annual
ineome ?

() T 24,000
{b] ¥ 26,000
e} ¥ 25600
) T 24,600

For 0 < m =< 1, which one of the following is
correct 7

2 1

(@  logym<m®<m<m”

b} memd<mi< log,, m

1 2

e} log,memem " <m

i} hgmm-t:m']'-:m-:m

A gentleman left a sum of ¥ 39,000 to be
distributed after his death among his widow,
five soms and four daughtors. If each son
receives 3 tmes as much 65 & daughter
receives, and each daughter receives twice as
much as their mother receives, then what s
the widow's share 7

(n} & 1000

(b} ¥ L200

iel = 1,600

idl  MNone of the above

Three numbers which are co-prime to each

other, are such that the product of the first
two 15 288 and that of the last two iz 770,
What is the sum of the three numbers 7

(a) B85
by 80
(e} 75
d: 70
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e § U fea st g # ey W aitEa
2599 # | HW 99 WIg 9F 1799 = & A |
10 = =7 o 1 g = we o

ia) 44T

(bi 453

(e) BoEH

(d) Ga2Ed

2y 5 Ser, 5 2aew it w1 6 A W &, @
100 FW w1 50 B § 9 5 o B
Fart] =) ArETEE Bl 7

(a] 1]

(bl 20

ie). 10

d}y &

w ) ww FfE g @ w1 R el
25% ) T B Tfw W W A E |
gad % #a W IEE TH T 10,000 ' R |
= % LA TR E MR T R 7
(s} T 65,120

(b} ¥ 5210

(c} T 5,360

id) ¥ 5,600

Fraferfias symer gl 4 9 98 oftgy wEn
wRA R e mar ke

{a)  Or45D450430 . . .

) 0450459459

(e) 00459450460 , . .

dl  0-0D459459 . ..

30,

a7.

oft s =Ta % 4% B 9IE 2-75% B A
#, @1 uw =fw ) FfE A v 64 "2 =1
2 | 3oh) q@ il ama wm # g

Lak + 24 00

by F 25,000
ie} T 25,600
(dy 24,600

D{m{léﬁﬁq.ﬁﬁ%ﬁaﬁﬁﬁﬁ?ﬁm
22

tal logy,m cem? <m<m!

1

(b) memlem?e log,,m

(el logy,m<m= mt = m®

id)  log,,m «m!=m=m?

v = 3 ¥ 30000 ® o S, 5
Fae gry % wFE, Iaehl fawen, ot g e
I ufii A wte W 2 | a9 v T
% foml =1 3 famm 2, oW wes o W
et w % Tl W g fem 2, @ e
T R Y

(al T 1,000
(b 1,200
fe) ¥ 1,500
(d) FTE T | HE

38, @1 fmmd St weaEt § wmew=y €, 39 own

{11-A)

# i weeht 3t = owe 2ee o sifim 2w
ToFEa 770 ® | 1 dwnet =1 aes s
L&

{a} B85
(bl BO
(el 78
dy 70




89. The age of a woman i8 a two-digit integer. On | 42.
reversing this integer, the new integer iz the
age of her husband who is elder to her, The
difference between their ages is one-eleventh
of their sum. What is the difference between
their ages T

(w}) B years

(h} 9 wvears
()] 10 years
(d} 11 years

40. A passenger train and a goods train are
running in the same direction on parallel
railway tracks. If the passenger train now
takes three times as long to pass the goods
train, as when they are running in opposite
directions, then what is the ratio of the spesd
of the passenger traim to that of the goods
train 7 44,
{Assume that the trains run at uniform speada)

m) 21
) 3:2
e}y 4:3
Wy 1:1

41. All odd prime numbers upte 110 are
multiplied together, What is the unit digit in

this product ?
fal D
b 3
e)

(d}  None of the above

SPS5-T-XHI {(12-A)

An alloy A contains two elements, copper and
tin in the ratio of 2 : 3, whereas an alloy B
contains the same elements in the ratio of
3 : 4. If 20 kg of alloy A, 28 kg of alloy B and
BOME more pure coppér are mixed to form a
third alloy C which now contains copper and
tin in the ratio of 6 ; 7, then what is the
guantity of pure copper mixed in the alloy C 7

{a) Skg

b 4kg
(&) &kg
{d  Tke

A quadratic polynomial ax® + bx + ¢ is such
that when it is divided by x, (x = 1) and (x + 1},
the remainders are 3, 6 and 4 respectively.
What is the value of (a + h) 7

fa) 3
(b) 2
e 1
) -1

If the average of 8 consecutive poasitive
integers is 55, then what iz the largest

intager ¥
(a} &7
ib} B8
e} 09
d}y B0

The average of the ages of 15 students in a
class 15 19 years. When 6 new students are
pdmitted to the class, the average age of the
class becomes 155 years. What is the average
nge of the § newly admitted students 7

{a) 17 yvears

(k) 175 vears

f¢) 1B vears

id) 185 years




39, TS Wiger i 6 S SR W 0F S # |5

quis % WH W FE FEE A W, T4 g
I ofa, o o w2 #, f oamg ow e
# | T S W W, TR G F A
TR AT # | A 3w S g d 7

fal &Y
(b) 9=
(e 1089

(dy 1199

40, TF warl M i ww weE ww o Fm o

dl.

SP55-T-XHI

HETH o W oW R ) 9f 9 Adfa
=1 1 Wl a1 wEnl TE, e w9 w6 o
F HWE o, I dA A B g e o
# | 79 & gum fem & @ o £, 9 gadt

#1 i =1 wemgt H TR A s o R e
(v st & migal wwewm i & s §)
& 2:1
(hy &:2
el 4:3
d 1:1

110 7% 1 wft fom s GEmE w o
wrg o R e # | W e § g
F T BT

(a) 0
thy 3
e} &
(d) 9w 4 8 wE T

43,

et oo A ) T amam A 2:a%
Ham | #, FufE oo fGaam B A ad
TEd:4% wgmad B 9l 20 kg Eam A,
28 kg frog B, 3w F0 o i 1z A
fererrr v fed) famarg C owd o 8, P
e 3 729 6: 7% 9w 4 &, @ famum o d
fererm e g AR A A o ¢

(al akpg
ib) 4kg
el Gke
id} The

v fEardl 9898 ax® + bx o+ ¢ 36 WA B 6 W
W x (x- 1) 30 (x + 1) F Tonfam e 7 2,
Al I A 3, 6HT A WA R | (a+ b
T T R Y

{a) 4
(b} 2
fed 1
@ =1

a3 9 FEPA GAEE YOiE @ e 65 R,
v Ty gt @ o

{a} 57

(b} 58

(e} 59

(dy &0

U w1 % 15 Bl &) 9w s oad B )
o wE 0 5 A BT w waw o g, A&
wa o afea W 185 96 & I B 1 wfae
BE 6 e Bl 6 e A e R 7

(a) 1794

(b) 17-594

(e) 1874

id) 185



46. ‘A man can row at a speed of x km/hr in still
water, If in a- stream which is flowing at a
gpeed of ¥ km/hr it takes him 2 hours to row to
a place and back, then what is the distance
between the bwe places 7
(a) z (> — 3.r3 I

2y
lh:‘ % lxg = 53 F_"}J
2x
e — yb)
| AL et B
il i
zix¥ - yﬂ‘.l

47, A water tank has been fitted with two taps P
and § and a drain pipe B. Taps P and @ fill at
the rate of 12 litres per minute and 10 litres
per minute respectively,

Consider the following statements 51, 52 and

=

81: Pipe R drains out at the rate of 6 litres
per minute.

52 If both the taps and the drain pipe are
apened simultaneously, then the tank is
filled im & hours 46 minutes.

83: Pipe R drains out (fully) the filled tank
in 15 hours 20 minutes,

To know what iz the capacity of the tank,

which one of the following is correct 7

fal 52 isonly sufficient

fthl 51, 32 and 53 are necessary

(¢} Any two oot of Bl, 52 and 53 are

sulficient

(dl  MNone of the above

SPS5-T-XKHI

48,

49,

(14-A)

A car has an average apeed of 60 km per hour
while poing from Delhi to Apra and has an
average speed of ¥ km per hour while
returning to Delhi from Agra (by travelling
the eame distance). If the average speed of the
car for the whole journey iz 48 km per hour,

then what is the value of ¥ 7

(a) 30 kEm per hour

thy 35 km per hour

(g} 40 kkm per hour

(d} 45 km per hour

An article ig sold at a profit of 32%, If the cost
price is increased by 2006 and the gale price
remaing the same, then the profit percentage

becomes

fa) 1%
by 12%
ey 15%
fdy 20%




48, TF =fF 38 T U B et o & W w
e W wEA @ | AR wE oum (FE), W
y fopft oo &1 e @ w T R, T U W A
fFdl ot ¥R 7% 7@ 8 9 3R TTE e
(eed) & 38 =T ¢ 9 7§, 91 =
T g

47.
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(s) g (x? —__:.'3]
2y

(b) zix® —3-"‘2:!
2x
ix® -y

()
2

zix” "FE]

X

(d}

ol &k TR 0 F 9 P el 3w
frem 7t R 1 W R | 99 P oW @ T
i Zehi =] @I 12 HieE Ui e 3l 10 witex
i fire F o w wm &

= wed § fefefas s 51, 82 3 sa W@

fa=m i -

51: et R, 6 ofter ofa fe oz @ o
Ferepriea =il &

52 . Ffz a1 Ao o B T =t ouw ooy
we o wm #, @ 5 U 46 fire o &6
il il

82 Aeft Bl of 7h = 16 92 20 fee § off
TR E EE e R

i 1 gam 9 5 fm, Fofafae 4 8

T HH R 7

(a) FEE S2F WA R

ithy 81, 52 3R 85 SravEE §

() 81,823 s3d A w1 i 2 vy &

) T A wE

[15-A)

48, foeeft @ s 3 gl ow e o s nfE

g0 freft i = & o s & Bl amm
W mwa e oftma nfy y Gl ofs 9o #
(wem gl mn e |) ) Al At e & s
afroe nfy 48 fomdt wfi w1 &, A y %1 9F w
&2

a} 30 Tt ufe g9

by 35 Tt ufa g

e 40 Tt wfa 9o

idy 45 Tt 9 ==

T g W 329 WM T A W # | =R a v
qed 20% 95 9 & afk e geg of o &,
At T ot e e g T e

fal  10%
by 12%
e} 15%

d) 206




80. A B, C, Dand E start a partnership firm.
Capital contributed by A is three times that
contributed by D, E contributes half of A's
contribution, B contributes one-third of E's
contribution and C centributes two-third of A’z
contribution, If the difference between the
combined shares of A, D and E and the
combined shares of B and C in the total profit
of the firm iz ¥ 13,500, what iz the combined
ghare of B, C and E 7 (The shares are

gupposed &o be proportiomal to  the
contributions
(8) ¥ 13,500 )
(b} & 18,000
(o) - 19,750
idy ¥ 20,250
51. A Pie Chart iz drawn for the following data :
Sector Percentage |
Agriculture and Rural | 194 i
Development l |
Irrigation | 124
Ensrgy | 272 |
Industry and Minerals 154
Transpart and 159
Communication g 54,
Social Services 161

What 12 the angle (approximately) subtended
by the Social Services Sector at the centre of
the circle 7

im)  45°

thy  46°

(e} GH&°

(dl 98

SPSS-T-XHI

{(16-A)

The arithmetic mean of two numbers is 10 and
their geometric mean is 8, What are the two
numbers 7

(a) 15,5
(b 12,8
e} 16,4
(d} 18,2

The arithmetic mean of 11 cheervations is 11,
The arithmetic mean of the first &
observations is 10-5 and the arithmetic mean
of the last & observations iz 11-5. What iz the

gixth obaervation 7

(al 100
(bl 105
e} 110
(d) 116

What is gin® 8 — cos® 8 equal to for any real
number 8 7

al 1

{b) 1-Z&n’0
{e) 2eos®d+1
(d)l  1-2costh




50. A B, C,D 3N E T AEEH B IE FHd § |
AR TE T Y3, DR wE T e H e
TR | E W SWEE, A SWEE W o 8,
B 3, E S W9EA W e},
C W HUEA, A S sEeH W afmd & AR
i % 59 o 8, A, D @ E & ogw =
THT B @R ¢ F HgFa B # S T 13,500
#, A B, C 3 Ew g fRem G d oo
(feeett, srwvel & waeE o 7 = #)

(a) ¥ 13,500
(b) T 18,000
el ® 18,750
(di T 20,250

51. FiaiEn wifwsi & fou e (v =H)
Coiciicib
e _ﬂ?_ hriim Tl i
o ol o | 129
fiand 125
A1 272
LI e 154
oftaes 3k g=n 159
Tt Hand 161
AT @A % 96 S8 (E9) 30 99 &
famg w it wmr () fee R
{a) 46
ib) 467
(e} &8
dy 98*
SPSS-T-XHI

[ 17—

62, & senal w weie e 10 8 3w i
wred 8} 1 FF Ao WA 8

() 15,5
(hy 12,8
(e} 16,4
(dy 18,2

53. 11 Heet w watw w11 @ S (vee)
& e & EEI "1 105 & #ih sifem 6 Ha
&1 UL 5T 116 & | @S e g 7
() 10-0
(b 106
e} 110
i) 116

54, Tl avafas @&m 0 F 0 sinto - costo

e W R 7

fa) 1

by 1-2gin*6
(e} Zeostt+l
d 1-2cosi0

Al




55. What is cot 1° cot 23° cot 45° cot 67 cot B9° | 58,

equal to 7

a} 0
bt 1

1
] s
io 3
1
|
fd} 3

S68. What angle doss the hour hand of a clock

deacribe in 10 minutes of time ?

ay 1°
{b) B°
(e} 6&°
dy  10°

B67. Consider the following statements ;

1. (sec@-1)(1—cosect0)=1

2, gin0{1l+cos0Fsil+cost)sndg =

Which of the above is/are correct 7
{a}] 1 only

(b} 2only

{c] Bothland?2

{d) Neither 1 nor 2

SPS5-T-xXHI

2 posee 0

(1B-A)

Each side of a square subtends an angle of 60°
at the tip of a tower of height h metres
standing at the centre of the square. If [ is the
length of each side of the square, then what is
h* equal 1o ?

{a) 2
(bl %
© 9;

From & height of b units, a man observes the
angle of elevation as o and angle of depression
as f of the top and the bottom respectively of
a tower of height H (> 4h), To what further
height should he climb so that the values of
angle of elevation and angle of depression  get
interchanged for the top and bottom of the
tower 7

(a} H-=hunits
(b} H - 2h units
(el H-3hunils

(d} H-—4hunits

If gecx cosecx =2, then what is
tan™ x + cot®™ x  equal to 7

() 2
by g4
£y o°
rd} 2'5—1




a3,

aT.

SPES-T-XHI

cot 1° cot 25° cot 45° cot 67° cot 89° ToFEeR
Crap o B

ta) 0

thy 1

el

s | =

(d}

S | ==

ot =g & 92 &1 @i, ww F 10 e W,
T Tt =1 =i =t & 2

(a} 1°

th) &°

el 6

(dy 10°

Fr=ferfas == w fT=w $ifam
1. (sec® B - 1) (1~ cosec® 8) =1

2. sinf(1+c088 " +(1+cosf)ging?=

2 opgec B

T 1 @ WA R
in) A 1

Fa 2

1 ¥ 2 3Al

() A LITAE 2

ik

e

{19

58. et =i & wers g, 39 = & g w fEm
h iz & T w9 ow o & o () w
B0 1 v afa wA B ) ol & 6 oges
g ) whand | 2, 9 b frods e # o

21

LEN

bl
()

id)

hTEE d FEE B v ol A
Hi >4 h F=r 9 oF 7= F oid o 7w =
FEE: T H o . FETEA R AR |
= # fman dwn =g wilee, AT I %
vid il 7= & I9EE FIO 3N FEATT wWOE
WA ¥eEee w1 A 7

H - k units

59,

{al
bl H - 2h unit=s
iel H - 3hunits

id} H-—dh units

'ﬂﬁ Bef X cosec i o= D E.#f tan™x + oot x

foperts aram & 7

(118

(&} 2
by 2o
(e} 2%
@ gt

_A':|




61. If cosx+cos®x =1, then whatis
sin® x + sin*x equal to 7
i 1
(b} 15
) 8
dy 2
62, IfsinA+cos A=pand gin® A + coa® A =],
then which one of the following is correct ?
al p3—3p+q =1}
thi q‘?'—3~q+2p =0
e} p'-3p+2q=0
idi pP+8p+2gud
63. If 1=M, thern which one of the
gec” B + tanf
following is correct 7
1a) %:x-ﬂ
1
ikl =z« [5'3]
1
i = i
el d<x < 3
id) % £x53
84, ABC is a right angled triangle with base B
and height AB. The hypotenuse AC iz four
times the length of the perpendicular drawn to
it from the opposite vertex. What ig tan C
equal to 7
a) 2-43
b) +3-1
e} 2+ 43
@ V3+1
SPSS-T-XHI

67,

(20-A)

ABC is s trianple right angled at C with
BC = a and AC = b. If p is the length of the
perpendicular from C on AB, then which one
of the following iz correct 7

{a) a*b*=p?ia’+b?)

(b)  ab?=p*(b*-a¥

e}  20%b* = p?(a% + b

(d)  a*b®=2p%(a®+ 1%

The radius and slant height of a right circular
comy are & cm and 13.cm respectively. What is
the volume of the cone 7

a) 1007 emd

(b} B0z cm®

el B5xcm®

{d} 1697 em?

Two equal circular regions of greatest possible
area are cut off from a given circular sheet of
aren A, What is the remaining area of the
shest 7

fa) A2
ihy  AS3
(ch 3AJS
(@) 2A/6

If the ratio of the radius of the base of a right
circular cone to its slant height 15 1 - 3, what 15
the ratio of the total surface area to the curved

sl area 7

fal &:3
bl 3:1
lel 4:1
{d}y 4:3




B1.

SPSS-T-XHI

'ﬂﬁunax+msﬂx=1t.'ﬁsinzz+ain"x 5.
En e
ial 1
b 15
{e) 2
dy 3
'ﬂ'ﬁsinﬁ.-n:n.-tﬁ.=p-3ﬂ'-l.'ain3ﬂ+tnsﬂh=qg.
W iefefEa s a s aft 2 o
fa)l p'-8peg=0 -
b} q'-3q+2Zp =0
(e} p*-Ap+2g=0
id) p*+3p+2q=0
a2
af = 36C O-tand 3 o Prefedum 4 @
sec” § + tan 8
okl Gl
1
L) EA’.E{E 87,
1
=3
(bl :l[a,]
1
e -Sﬁxd—g
1
= 3
1di 3 oK S
ABC T s i @ faews R B ok
S=r AR # | %91 AC &1 v, wepE T A
= W WS ™ e ) o foaw R | es.
tan ¢ T a7
a) 2-43
M fB=1
e 2+43
) J3+1
(21 -A)

ABC % Fpe & W1 © w eremni B, el
BU=a3W AC=b® | 3 CH AB W W™ 7M
A we fi A p &, W fe=fefam 8@ #
H-a T # 7

ia] afbf=pat+bh

k) a®bf=p?ib?-a®)

el Eﬂgh1=p3{ai+h"th

idr a?bP=2pfat+ b

feft gy o 61 e o fedhl $=rd
HAN: 5oem MW 13 em B | TF F WG A
2o

{a) 100z em?

(b} GO em®

|

(el GO cm

id) 1697 cm?

A SFEE Al A wE @ gEed (ged W)
#9e Ea & o aet et 8 we a8 )
TEL = ¥ B w4 & ¢

ia)  Af2
b A3
fe)  3ASS
(dy 2475

afg v weadE wE & e 6 oW
ek fomehl = & wIm 1 - 3 B, W %A
T EEE A T a8 T
Re

fa)  5:3
b 3
el 411
idr 4:3




71,
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A right circular cone is sliced intoe a smaller
cone and a frustom of a cone by a plane
perpendicular to its axia. The volume of the
smaller cone and the frustum of the cone are
in the ratio 64 : 61. Then their curved surface
areas are in the ratio

fa) 4.1

by  1G:9

(e} B4:61

(d) 81:64

In a room wheose floor is a sqoare of zide 10 m,
an equilateral triangular table of side 2 m is
placed. Four  book-shelves  of  gize

4mx1mx 3m are also placed in the room.
If half of the rest of the area in the rosm iz to
be carpeted at the rate of T 100 per square

metre, what is the ecost of carpeting
(approximately)

ia) ¥ 7600

by T 5835

le) 4113

(d} T 3,200

A region of area A bounded by a circle O is
divided into n regions, each of area A/n, by
drawing crecles of radii r,, v, 1y, ... 71, such
that ry <ry < 1y <., r,_; concentric with the
circle C. If p_ = 25 where m =1, 2 3, ..
(n — 2), then which one of the following is

correct 7

ia} pincreases az m increases
(b}  pdecreases as m increases
le)  premains constant as m increnses

(dy p incresses for some values of moas m
increases and then decreases thereaftor

T

Td.

75,

(22-A)

What is the volume of a cone of maximum
volume cut out from a cube of edge 2a guch
that their bases are on the same plane ?

{a) mad
i) %3
e} Eu?j
id) EI:I'[:.:]'

The radii of two circles are 4-5 em and 3-5 em
rispectively, The distance between the centres
of the circles is 10 em. What iz the length of
the transverse common tangent 7

(nl 4ecm
tb) GBecm
(e} Geom
idi Tem

There are as many square centimetres in the
surface area of a sphere as there are cobic
centimedres in its volume, What is the radius
of the sphere 7

(a) d4om
bl 3em
e ‘2em
dl lem

The length of a line segment AB iz 2 cm. It is
divided into two partz at a point C swch that
AC® = AB x CB. What is the length of CB ?

F: 1) EJ'En:m

b}y 3-J5em
(e} 5+8cm
(dl +5—lem




69. UH TEGM WE ®, IWE AW T oEadq, 06 |72,
a8 & g, Wh B 9 30 IE & fows W
T AW R | BIe UF RN AF & oAw &
AFET 64 : 61 % wgwW # & | @ FH B
TeiE S e sqEa g
(&l 4:1
(b) 16:9
gl 64:61
idy B1:64

70, ol ww o, famm w5 10 m g 00 R
#, 2 m W Al u wwaE Ewei
I WA T 4m=1m=9m* I A
e i =W s o el ol § ) o ws
¥ TR w9 69 & a9 W § us el faen | 73
e & forft o ¢ o100 wf @l diem &, &
A e e (e e i e
(a) ¥ 7,600
(hy & 5,635
(e} 74,113

idy ¥ 3,200

7. g9 C 8 gieg, A @9%0 90 U &9 W on
wvei # fanfam fmm 2, w@t o @vE W@
g5 Afn & | % fm Tpe Ty Pygoweo Tpog
Tt 5 ¢ @ 6 59 98 w0 = g #

Tm+1

Td.

= ry <Py rs‘---l'n—lt | =fa Py, =

T'm

a5 m=1,2 3, .. (n—2 ¥, o Pl d 8
T =R 7

(a) m % g4 % wET poft w2 B

(b} mFEA R W p AR

(¢} med 2 p ¥ (FER) R

(d) T m wEW # A I9H @ AE & e p
Twd # ¥ I = " e R

5.

SPS5-T-XHI (23-A])

2a W GE 99 W TR TR I BH UEN
w9 TN E TR e W UR B AW O 8, A
TH THR & T 9] 0 W A0S0 e
L5

ja) na’
3
=
3
2
s —
r 3
3
id} Fma”

4

o gt i Freamd 0 45 cm 3R 36 em # |
gl % Fal & 4 B Z0 10 em B | TR
Tt wyetrmn ) ot o # o

al 4cm

(b} Bem

g} GBecm

idl Tecm

T e I sEEe | and & 9 e
# o 5 305% s & o Al £ TR
F et

(a) 4ecm

iby 3 cm

£e) 2 cm

i 1 cm

ﬁtﬂ‘lﬁﬂimiﬁmﬁﬂmi|ﬁ§c;ﬁ$
i 4 W uwmn Ewfia o # B
AC*=ABxCB® | 78 OB 1 wmd #T # 7

fa) 85 em
(b} 8- 5em
i) EJE il
) V& -1em




T6. The locus of the mid-points of the radii of | 80.
length 16 ¢m of & circle is

(a) A eoncentrie cirele of radive 8 em

ib) A concentric circle of radius 16 em

e} The diameter of the circle

(d} A straight line passing through the
centre of the circle

77. The ecurved surface area of & right circular
cone is 1'76 m® and its base diameter is
140 cm. What is the height of the cone 7

tal 10 cm

b} 1042 cm
(e) 2042 cm
(d) 10416 em

78. Consider the following statements ; St

1.  The orthocentre of a triangle always lies
ingide the triangle.
2.  The centroid of a triangle always lies
: inside the triangle.
3. The orthecentre of & right angled
triangle lies on the triangle.
4.  The centreid of a right angled triangle

lies on the triangle.
Which of the above statements are correct 7
(a) land?2
(b} 1and4
¢} 2and3
(d) Z2and4
T8, The locus of & point eguidistant from two
intersecting lines is Ba,
() A straight line
() Acircle

e A pair of straight lines
(d)  MNone of the above

SP5S-T-XHI (24 -A)

Consider the following statements :

Two triangles are said to be congruent, if

1. Three angles of one triangle are equal to
the corresponding three angles of the
other triangle.

2.  Three sides of one triangle are equal to
the corresponding three sides of the
other triangle,

3. Two sides and the included angle of one
triangle are equal to the corresponding
two sides and the included angle of the
other triangle.

4.  Two angles and the included side of one

triangle are equal to the corresponding
two angles and the included side of the

other triangle.
Which of the above statements are correct 7
el 1, 2and3
th) 1,3 and 4
e} 1,2and4
(d) 2 3and4

Given that the angles of a polygon are all

equal and each angle is a rght angle.

Steterment-1; The polygon has exactly four
gides.

Statement-2;:  The sum of the angles of a

polygon  having n sides is
{3n — 8 right angles.

Which one of the following is correct in respect

of the above statements 7 :

{(a) Both Statement-1 and Statement-2 are
true and Statement-2 18 the ocorrect
explanation of Statement-1

by Both Statement-1 and Statement-2 are
true but Statement-2 is not the correct
explanation of Statement-1

£} Statement-1 is true but Statement-2 is
falae

(dy Statement-1 iz false but Statement-2 is
true

If the length of a side of a square is increased
by B cm, its area increases by 120 sguare cm.
What is the length of a side of the square ?

{fal 286em

fhi 3-5em
() 45 cm
idl] G&cm




Th.

T8,

T
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_ (£:1)

16 cm i &) Fron o el am & B

% wea.fagait @@ fagou #
(a) 8 em B w0 oS @R A9

(b 16 cm Fr=n &1 vF w5 g9

o) g T
(dy I F T B A T o e

v A I O T e 176 md

B oft g% AmoR W S 140 em B | TF B

Fard W ¥
(ad 10 cm
by 1042 em
ich Eﬂu'r'..!' cm
(di 10416 em

Fafefan == w faan $ifEn

1. vw fiqe = da % o 3w fge %
e o R

2. U a1 Fge e 34 B % s
# A E

3. UF "HEM E W wE e 3e fEea W
fEm gm e

4 UH wyww Brgm & oSS 30 Bya W
et g B

IE § { A wYH R R 7

132

by 134

ey 24

il 23R4

) ufrsdd) Tt @ R g W fEE e W g,

firgme &

il E,E'H'{FT:‘.ET

(h) TF TA

(e} WA TR W UF TH
() F9EF G F FE TH

go, Frfefies st o faem fifan .

B1.

(25 -A)

=1 fayw wafron 2 o §, 74

1, v By & AR = ogE B & AR
#19 Frm & a8

2, v faga A Aim gard o Py 6 o
Fﬁqgma:ﬁﬂ-?mmﬁ

3. e FrgE it G A s s st mm
w frgm & 5 oG g sk T
AT I & T A |

4. UE B W% d w0 9 IWE Hana g
Za1 FrgE o Wm 3 0 A T A

W & A A |
I el § 8w w9
{a) 1,233
b} 1,334
e 1,234
dy 2,334

fem w0 & & vw wmeE & @ s T 3
T TelR R0 U GEE R
-1: EEME e ey
FHT-2: n YA FE GEYE & wE w
SRS (A0 — &) AT B R |
I FEAl o HEW °, FeleiEd 2 H R
R Y
(m) TFYA-1 W wEA-2 T W E, T FEA-2,
-1 1 wEl = A
(b FEE-1 3N weR-2 A oad B, Sfes
Fo-2, -1 i w5 e TR
{c)  WUH.1 W 8, S HeA-2 e #
i) SEE.1 TER B, difa -2 TE R
aft wk @) &1 g F FE 8 em T & AW,
A T R 120 em? 95 AW | G F g
ot s By

fa) 2-5em

by J5em
i 45 cm
idl  5Hem




SPSS-T-XHI

B3, What is the largest power of 10 that divides

the product 1% 2x3x4 ., «23%24 %257
a) 2

by 4

el &

(dy  Mone of the above

Walle (excluding their roofs and foors) of &
identical rooms having length, breadth and
height 6 m, 4 m and 25 m respectively are to
be painted, Prints are available only in cans
of 1 L and one litre of paint can be used for
painting 20 square metres. What 15 the

number of cans required for painting 7
(a) 10
by 12
gy 13
idy 14

A rectangular pathway having width 46 m
and length 10 m will have to be tiled using
square tiles of side 50 em. Each packet of such
tiles contains 20 pieces and costs T 100, What

will be the total cost of tilea for the pathway 7
fa) ¥1,200
(b} % 1,100
(eb ¥ 1,000 &9,
dy T 900
A cube of maximum volume (each corner
touching the surface from inside) is cut from a
sphere. What ia the ratio of the volume of the
cube to that of the sphere 7 e
fa) J:dm
b J3:2=z
e) 2: 43z
(d) 4:8n

(26-A)

|87,

If the ratio of the ciroumference of the basge of
a right circular cone of radins r to it height is
3 : 1, then what iz the area of the curved
surface of the cone 7

(a) Bmr?
) 21?21}4:1 + 5
3
(el :'.1"E !':2 +1
a
- B
. \lall: +9

A wire & in the form of a circle of radius
B8 cm. A square is formed oot of the wire
What iz the length of a side of the square ?
(Use = = 22/T)

L
(b 152 em
e} 154 em
(d) 156 em

Congider the following for the next fwo (D2)
gquestions ;

In o triangle ABC, a, b and ¢ are the lengths of
the gides and p, q and r are the lengtha of its
medians.

Which one of the following is correct ?

fa) Zip+g+ri=la+h+cl

bl Zipsg+ri=3ia+b+e
{ch Zip+gqeri<dia+h+c)
id) 1lip+q+ri>10la+b+e)

Which one of the following is correct ?

(al fa+b+cd<cipsg+rl

th 3la+b+cicdips+g+r)
e} Zia+b+el=8{p+g+rl
d}y Bia+b+el>dip+g+r)




Hi.

10 %1 AITHAT o R W U
1w Zxdwd ... 23 x 24 »25 % finnfm sl
o

fa) 2
bl 4
el B
(d) 3w 4 & w8 A

T 3 5 F R A (He ee T we oW
sigw) Tl v, ==l 9w d=E A
EmAdm#AL 2S5 mA, R Fmmame 1=
e 1 wiel & e 1 Ioeey # 3w Ee
Tz I 20 @ der % oW § o
o # | Tz 1 F T vmmms T o#
HEE T @ 2

(a) 10
by 12
(ch 13
(dl 14
g syrarwn url fedl e 4.5 moafh

10m &, # 50 cm W & Fnfwn zrge s £
T el owew d%e 4 2o B s gmd
#ma £ 100% | wni i o vl o dmm
w1 Bl 7

fa) ¥ 1,200
(b T 1,100
fed  F 1,000
(dl ¥ 800

TH T # g s & s e (e
TeE FI1 3 B e 1 mEw A S
) T R | W AW e % e

T R Y
fal  d:dm
(b 3:2x
(¢} 2: o
(dy 4:3n
SPS5-T-XHI

B7.

afz fem ¢ % wE gy wE & amm R
aftfy a1 2efl Sand w0 wgTm a1 R, @ UE
& 9 Y3 W AAEE W R 7

) Smrt
e ‘im"r""lld:-tz 1 E
3
rrrﬂmlrnﬂ +1
igl ———
3
i':ri-ulilr:'i + 8
il T

THAN, SSemF BEn HF gm F A R |
™ AR wm o R R o
1 Tt R 7 (x=22/7 T wEm i)

(al 146 cm

ib} 152 em

ie] 154 cm

[ B 156 cm

e 3 02) Wl & faw e o e
S :

(27 - A)

v BE ABCH, a b3 o i $i w=Ef #
ﬁnqﬂﬂ?rﬁ?ﬁﬂmaﬁﬁmil

Frafefas 4 & whm a2

fal Zip+g+ri=la+h+cl

by Z2ip+q+ri=dla+h+¢)
e} 2ip+q+ri<dla+b+el
i) 1lip+q+ri>10{a+b+c)
freafertian 4 & =i ad & 2

fal (a+b+cl<ip+qg+r)

ibl 3fa+b+el<dip+g+r)
icl Zia+b+ecl>3lp+g+r}
idy 3la+b+cl>dip+q+rl




81. What iz the area of the largest circular disc (g4

cut from a square of side :I;!- units 7

5

i) - msguare units

(b 1 sguare anit

fc) n*aguare units

(d} 2 esguoare units

a5,

82. The preduct of the lengths of the diagonals of

a square 15 50 square units. What is the length

of a side of the aguare

[a) Ew'i unita

(b} 5 units

{c) 10 units

(d)  2J5 units 98,
83. The surface area of a closed cylindrical box is

452 square cm. If its height is 10 cm, then

what iz ite diameter ? (Use = 2—?2 i

(a) 4cm

itbl Bem

el 212cm

(d)  18-26 em
SPE5-T-XHI (28 —-A)

A square and an equilateral triangle have the
same perimeter. If the diagonal of the square
is 642 cm, then what is the area of the
triangle ¥

(a) 1242 cm®
(b) 1243 cm®
(c} 1642 em?
(d) 1848 em?

What is the area of the region bounded
internally by a square of side of length ‘2" and
externally by a circle passing through the four

corners of the square ?

{a) [n—1)a® square unita
o T |
B e e it

2
(e) (x—2)a? ROuATE Units

(m—21a%

(d}
2

sguare unita

In the figure given below, XA and XB are two
tangents to a circle, If < AXB = 50° and AC is
parallel to XB, then what is © ACB equal to 7

() TOP
(b} B5°
el B0°
d) B5"




9. gm%mf%aﬂﬁﬁﬂmnﬂaﬁ

SPSS-T-XHI

o 92 T faws W aee = a2
{a) =1 FHE
by 19 3H
(¢) =2art 5o
iy 2ol

wh i & Fremt it wwwEl w1 Ews 50 @
wht TR m ATk

{al GyZIFE
(b) 5EFHE
(e} 105FTE

d) 25 TH

TF 9% dOFIER U Ui #@Eee 352 Wi
Hnii B | T el e 10 em R, 9 T
WWE?tn-i—aﬂﬂ'ﬁﬁﬂ

(a4 em
iby Bem
fel 912 em

(d} 1926cm

(28-A)

M. TF T N uF uwEr fye e ofmw s

tiRTF A 6/ emd @ BE .
St T & 7

fa) 1242 em?
(b} 123 em?
(€] 1642 em®
(d] 183 em®

I E9 W AEES TR S o B A e
o A W wfag R oo ww @ @ owl &

TR HH # A T g9 A ofEg 7
(a) (m-1)a% o gord

®) 'f:r:—i}aa -

(e} (n—2)a = 75e

@ E-Ba a1 g

2

A fau e e @, XA ot XB uw Tm 6 @
wriaEn § | of2 caxp-soe s Ac, XB S
T R, W o ACE eEd sma B 7

ia} TD®
(b} B&°
[+ B

(dy 55




#7. In the figure given below, p, q, r are parallel | 89,
lines: ! and m are two transverszals,
I m
= A B} P
n B E .
- {} -liF *=T
Consider the following
1. ABR:AC=DE:DF
2. ABxEF=BCxDE
Which of the above iafare correct ?
ia) Tlonly
(bl 2 only
{cy Both1and?2
id} HNeither 1 nor 2
88. In the equilateral iriangle ABC given below,
AD = DB and AE = EC. If ! is the length of a
side of the triangle, then what is the ares of
the shaded region 7
A
D E
B C
2
{a) W3
16
3%
ib) ——-
. 16
3.3 #
L
)
{d} 3
d2
SPSS-T-XHI {30-A)

1040,

In the figure given below, SPT is a tangent to
the circle at P and O is the centre of the circle.
If £ QFT = o, then what is & POQ equal to ?

fa) a

(b} 2o

e} S0r-a
(d) 180°-2a

In the figure given below, two equal chords cut
at point P. If AB = CD = 10 em, OC = 18 cm
(0 iz the centre of the cirele) and PB = 3 cm,
then what iz the length of OF ?

(al] Bem
(b)) Bem
(¢) 2+29cm
(M 2+3Tem




dg fiw m = 4, p, q - wEE T §
[ 3 m 7 T el § )

{ |

BT
L .
frefefas w fomm Fifam .

1. AR : AC = DE ;: DF
2. AB = EF = BC = DE

Fiwa # § Feand w0
(a) A 1

ihy THEE 2

(¢} 130 22

) FALAE 2

o8, ra fau o wwaErs e ABC |, AD = DB i
AE = EC # | af} o it wF s Fr o 4
#, T o g W Sawa wm R o
A

a7,

B i
343 17
16
3
16
343 I
32
3
a2

()

ih}

el

(d)

SPSS-T-XHI {3

99. = R w fe3 &, SPT, PN g9 i oyt
W OFT N FZ R IT2 £ QPT = i, @
2 POQ FFes T & 7

@l o

(b} 2a

e} B0°-g
d} 1807 - 2a

100, #19 RBu m f42 |, 9 sva fed Ty P W
w1t § | 9 AB = CD = 10 em, OC = 13 em
{ﬂﬁﬂﬁﬁﬂﬂtjﬂ!’ﬂ:ﬂcmtﬁ
OPF FEE 7R 7

Hcm

)]

(b} Gem

En.lrﬂ_ﬂ eI
237 cm

le}

(d}

-A)
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SPACE FOR ROUGH WORK
w= T & Fe g




SPACE FOR ROUGH WORK
& & & foru g
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SPACE FOR ROUGH WORK
@ &HTH & foru s
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SPACE FOR ROUGH WORK
& & & Tore wg
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ymﬁﬁan&mmmﬁ 3w = m, ﬂﬁmmﬂﬂwgﬁm e
) A, B, C T D W, sar & we e e ar Farf 3 w3 Foarari

I R § | ﬁwﬁﬁmﬁﬁﬁfﬁﬁnﬁgﬁﬁrimﬂﬁﬁmm AT |

w8 item gfer o a7 By weeE | s s

s o # | whem g w st ge T o |

76 witaw gfess 4 100 s (we) fEmom # | wes e Hn arirsht 2m 4 B R ) T
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IR A i Y e | By s W g iR o £ ) aass | fan e lm 3fam

nﬁnﬁfﬁ%aﬁmﬁl

wﬂwﬁﬁmqﬂmw arﬁfﬁauﬁmﬁ%mgmmmmmﬁmmajaﬁ T

prip B el R & s gu e smoms F 3 E

T W i i T § e & A am o % 9uee W e Ine-ge JdiEE

e F | et s e i g & e o st @

T ®W & fon v e it % o 8 "o §

TEA T o A e

TS W0 Ieman g R e o & e e fan wmoem

iy W TE F o aw s T | oofiean g v O & B e mouw vem T § B oam
# fra e o ol = ven-fgmd ave % =9 8 @@ 9w

i) oft F Iafean v O A I g R, 9 oR nem T A A, g feow el 9 3 o I
wE #rm #, T oft 3w e & o avdegem Bt el e W g B s

(iii) ofe FefEEn gm w1 W v 99 Fen a8, orety sofean go sm ad B o R, W oI R
fom = gom =i R = |

T 7 ATGET TF GO QI WA &1 ST W a9 0% 7 W

Note : English version of the instruetions is printed on the front cover of this Boolklet,
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